

Geddington Cricket Club 2010 Season Review:

2010 SEASON



Geddington Cricket Club 1st Team 2010 NCL Division 1 Results & Tables:

5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1					
Date	Fixture	H/A	Result		
24/4/2010	V Wellingborough Indians	Away	Geddington won by 107 runs.		
1/5/2010	V Isham	Home	Isham won by 6	wickets.	
8/5/2010	V Kettering	Away	Geddington Wini	ning Draw.	
15/5/2010	V Earls Barton	Home	Geddington won	by 140 runs.	
22/5/2010	V Long Buckby	Away	Geddington won	by 5 wickets.	
29/5/2010	V Desborough Town	Away	Match Cancelled		
5/6/2010	V Old Wellingburians	Home	Geddington won	by 50 runs.	
12/6/2010	V Old Northamptonians II	Home	Old Northamptor	nians won by 2 wickets.	
19/6/2010	V Irthlingborough Town	Home	Geddington won	by 2 wickets.	
26/6/2010	V Horton House	Away	Horton House won by 4 wickets.		
3/7/2010	V Thrapston	Home	Geddington won by 7 wickets.		
10/7/2010	V Wellingborough Indians	Home	Geddington won by 5 wickets.		
17/7/2010	V Isham	Away	Geddington Wini	ning Draw.	
24/7/2010	V Kettering	Home	Geddington won	by 6 wickets.	
31/7/2010	V Earls Barton	Away	Geddington won	by 5 wickets.	
7/8/2010	V Long Buckby	Home	Geddington won	by 8 wickets.	
14/8/2010	V Desborough Town	Home	Match Cancelled		
21/8/2010	V Irthlingborough Town	Away	Geddington won	by 5 wickets.	
28/8/2010	V Horton House	Home	Match Abandone	d.	
4/9/2010	V Old Wellingburians	Away	Geddington Wini	ning Draw.	
11/9/2010	V Old Northamptonians II	Away	Geddington won	by 6 wickets.	
18/9/2010	V Thrapston	Away	Geddington Wini	ning Draw.	
	Team	Played		Points	
С	Horton House	22		432	
2	GEDDINGTON	22	404		

	Team	Played	Points
С	Horton House	22	432
2	GEDDINGTON	22	404
3	Desborough Town	22	315
4	Isham	22	309
5	Old Wellingburians	22	272
6	Old Northamptonians II	22	269
7	Kettering	22	260
8	Earls Barton	22	237
9	Wellingborough Indians	22	225
10	Thrapston	22	221
R	Long Buckby	22	212
R	Irthlingborough Town	22	212

Geddington Cricket Club 1st Team 2010 League Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Chris Murdoch	19	1	718	39.89	115*	6	1
Tiaan Raubenheimer	20	6	706	50.43	106*	4	2
Lee Sutherland	17	1	435	27.19	98	3	0
Stephen Ludlam	19	8	403	36.64	59	2	0
Mark Neave	17	3	297	21.21	71*	2	0
Jamie Kay	15	6	210	23.33	38	0	0
Ryan Bell	12	2	171	17.10	30	0	0
Marcus Knight	5	1	112	28.00	42	0	0
Steve Toseland	10	1	57	6.33	23	0	0
Leigh Burdett	3	1	46	23.00	16	0	0
Richard Loak	5	0	29	5.80	9	0	0
Colin Judd	3	1	16	8.00	15*	0	0
Mark Toseland	4	3	11	11.00	11	0	0
James Bye	1	0	8	8.00	8	0	0
Darren Garley	4	1	8	2.67	5	0	0
Simon Pearson	1	0	4	4.00	4	0	0
John Burdett	1	0	4	4.00	4	0	0

Geddington Cricket Club 1st Team 2010 League Bowling Averages:

Name	Overs	MDNS	Runs	Wickets	Average	Best Figures	5+ W
Jamie Kay	189	43	533	34	15.68	6-34	1
Tiaan Raubenheimer	136.5	29	443	33	13.42	5-18	1
Ryan Bell	167.2	33	532	33	16.12	5-28	1
Colin Judd	102.5	23	316	15	21.07	3-8	0
Mark Neave	104.5	20	350	15	23.33	3-23	0
Chris Murdoch	86.2	13	316	14	22.57	2-10	0
Mark Toseland	40.5	10	106	9	11.78	3-18	0
Simon Pearson	5	1	13	3	4.33	3-13	0
Marcus Knight	1	1	0	0		0-0	0
Lee Sutherland	0.1	0	4	0		0-4	0

Geddington Cricket Club 2nd Team NCL Division 5 2011 Results & Tables:

Date	Fixture	H/A	Result
24/4/2010	V Grendon & Prims	Home	Geddington Winning Draw.
1/5/2010	V Isham II	Away	Geddington won by 112 runs.
8/5/2010	V Earls Barton II	Home	Geddington won by 4 wickets.
15/5/2010	V Gretton	Away	Geddington Winning Draw.
22/5/2010	V Kibworth III	Home	Geddington won by 9 wickets.
29/5/2010	V Irthlingborough Town II	Home	Geddington Winning Draw.
5/6/2010	V Old	Away	Old won by 37 runs.
12/6/2010	V Overstone Park II	Away	Geddington Winning Draw.
19/6/2010	V Wicken	Away	Wicken won by 172 runs.
26/6/2010	V Higham Ferrers	Home	Geddington won by 249 runs.
3/7/2010	V St Crispins/Ryelands II	Away	Geddington Winning Draw.
10/7/2010	V Grendon & Prims	Away	Geddington won by 56 runs.
17/7/2010	V Isham II	Home	Geddington won by 26 runs.
24/7/2010	V Earls Barton II	Away	Geddington won by 10 wickets.
31/7/2010	V Gretton	Home	Geddington Winning Draw.
7/8/2010	V Kibworth III	Away	Kibworth Winning Draw.
14/8/2010	V Irthlingborough Town II	Away	Geddington Winning Draw.
21/8/2010	V Wicken	Home	Geddington won by 6 wickets.
28/8/2010	V Higham Ferrers	Away	Geddington won by 50 runs.
4/9/2010	V Old	Home	Geddington won by 7 wickets.
11/9/2010	V Overstone Park II	Home	Overstone Park won by 8 runs.
18/9/2010	V St Crispins/Ryelands II	Home	Geddington won by 6 wickets.
	Team	Played	Points
С	Old	22	412
P	GEDDINGTON II	22	401
3	Kibworth III	22	384
4	St Crispins/Ryelands II	22	356
5	Grendon & Prims	22	350
6	Earls Barton II	22	306
7	Overstone Park II	22	274
8	Higham Ferrers	22	254
9	Wicken	22	246
R	Irthlingborough Town II	22	206
R	Gretton	22	171
R	Isham II	22	169

Geddington	Cricket C	lub 2nd	Team 20	10 Leaș	gue Ba	tting A	verages:
Name	Innings	Not Out	Runs	Average	HS	50's	100's
Matt Knight	20	2	624	34.67	93	6	0
Marcus Knight	13	4	519	57.67	203*	2	1
David Goodjohn	17	2	488	32.53	84	4	0
Paul Smith	15	2	320	24.62	92*	2	0
Brodie Biddle	12	1	221	20.09	79	2	0
Nathan Dorrington	11	3	188	23.50	69	1	0
James Schofield	14	4	185	18.50	38	0	0
Miles Knight	10	0	129	12.90	44	0	0
Mark Thomas	7	1	104	17.33	37*	0	0
James Bye	9	3	99	16.50	21	0	0
Richard Loak	5	3	93	46.50	35	0	0
Stuart Bendall	5	0	82	16.40	57	1	0
Darren Garley	3	0	67	22.33	39	0	0
Derek Paterson	2	1	58	58.00	50*	1	0
Dave Shorthouse	4	3	55	55.00	21*	0	0
Andrew Bowen	4	0	28	7.00	14	0	0
Leigh Burdett	1	0	21	21.00	21	0	0
Mark Toseland	5	1	20	5.00	8	0	0
Keegan Biddle	2	0	18	9.00	12	0	0
Oliver Toseland	3	1	10	5.00	4	0	0

Geddingto	n Cricket	Club 2nd	d Team	2010 Lea	igue Bo	wling Avo	erages:
Name	Overs	MDNS	Runs	Wickets	Average	Best Figures	5+ Wickets
James Schofield	156.3	43	451	42	10.74	5-9	2
Matt Knight	178	40	541	40	13.53	7-23	2
Mark Toseland	141.1	37	362	36	10.06	6-20	2
Paul Smith	129.2	25	470	23	20.43	4-36	0
Dave Shorthouse	83.3	18	262	17	15.41	6-6	1
Marcus Knight	82	13	285	9	31.67	3-11	0
Miles Knight	8	0	40	3	13.33	3-27	0
Oliver Toseland	17	4	69	3	23.00	2-13	0
Colin Judd	15	4	65	2	32.50	2-65	0
Phil Peel	33	6	96	2	48.00	1-8	0
Kelvin Gingell	6	3	21	1	21.00	1-21	0
Shane Ling	6	0	54	1	54.00	1-39	0
Richard Spence	14	2	63	1	63.00	1-42	0

Geddington Cricket Club 3rd Team NCL Division 13 2010 Results & Tables:

Date	Fixture	H/A	Result	Result	
1/5/2010	V West Haddon II	Islip	Gedding	gton won by 9 wickets.	
8/5/2010	V Loddington & Mawsley IV	Islip	Match C	ancelled.	
22/5/2010	V Oundle Town III	Away	Gedding	ton won by 129 runs.	
29/5/2010	V Irthlingborough Town III	Away	Match (Cancelled.	
5/6/2010	V Grendon & Prims II	Islip	Gedding	gton won by 6 runs.	
19/6/2010	V Brixworth III	Islip	Gedding	gton won by 96 runs.	
26/6/2010	V Thrapston III	Away	Gedding	gton won by 9 wickets.	
3/7/2010	V Mears Ashby II	Islip	Mears A	Ashby won by 148 runs.	
17/7/2010	V Kislingbury Temperance II	Away	Gedding	gton won by 8 wickets.	
24/7/2010	V Wollaston III	Away	Gedding	gton won by 6 wickets.	
31/7/2010	V Bold Dragoon II	Away	Gedding	gton won by 3 wickets.	
7/8/2010	V Old Northamptonians V	Islip	Gedding	gton won by 126 runs.	
14/8/2010	V Old Wellingburians II	Islip	Match A	Abandoned.	
21/8/2010	V Badby II	Away	Match A	Abandoned.	
28/8/2010	V Weekley & Warkton III	Islip	Weekle	y & Warkton won by 1 wicket.	
	Team	Played		Points	
С	Oundle Town III	15		346	
P	Mears Ashby II	15		289	
Р	GEDDINGTON II	15		287	
4	Weekley & Warkton III	15		280	
5	Wollaston III	15		268	
6	Old Wellingburians II	15		265	
7	West Haddon II	15		214	
8	Bold Dragoon II	15		211	
9	Loddington & Mawsley IV	15		205	
10	Kislingbury Temperance II	15		191	
11	Grendon & Prims II	15		173	
12	Old Northamptonians V	15		164	
13	Brixworth III	15		163	
14	Badby II	15		161	
15	Thrapston III	15		105	
16	Irthlingborough Town III	15		97	
-	-	-		•	

Geddington Cricket Club 3rd Team 2010 League Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Derek Paterson	8	1	297	42.43	87	1	0
Matthew Peleszok	8	0	262	32.75	82	2	0
Roger Paterson	10	2	205	25.63	50	1	0
Mark Thomas	4	3	159	159.00	52*	2	0
Mark Pearson	5	1	109	27.25	71	1	0
Keegan Biddle	3	1	99	49.50	51*	1	0
Tim Clay	1	0	83	83.00	83	1	0
Paul Rowden	4	1	76	25.33	35	0	0
Oliver Toseland	4	2	55	27.50	43*	0	0
Miles Knight	2	1	47	47.00	45*	0	0
Stuart Bendall	2	2	46		30*	0	0
Tom Spence	3	0	37	12.33	25	0	0
Ali Lang	2	0	34	17.00	22	0	0
Ben Templeman	1	1	32		32*	0	0
David Rogers	3	2	30	30.00	25*	0	0
Thomas Pearson	4	2	20	10.00	11	0	0
Glenn Bell	3	0	19	6.33	13	0	0
Andrew Bowen	3	0	18	6.00	11	0	0
Steven Rolf	2	1	17	17.00	9	0	0
Dave Shorthouse	1	0	16	16.00	16	0	0

Geddington Cricket Club 3rd Team 2010 League Bowling Averages:

Name	Overs	MDNS	Runs	Wickets	Average	Best Figures	5+ W
Oliver Toseland	88	14	367	15	24.47	3-25	0
Ross Campbell	56.5	12	130	14	9.29	5-20	1
Richard Spence	43	11	104	12	8.67	4-25	0
Phil Peel	11	3	40	10	4.00	6-29	1
Mark Pearson	34	6	118	9	13.11	2-5	0
Thomas Pearson	42	4	177	8	22.13	3-37	0
Glenn Bell	58.5	11	183	8	22.88	3-25	0
Shane Ling	31	6	116	7	16.57	3-30	0
Keegan Biddle	29	0	152	4	38.00	2-13	0
Charlie Gingell	7	3	39	3	13.00	3-39	0
Miles Knight	19	4	45	3	15.00	3-18	0
David Rogers	8	2	59	3	19.67	2-9	0
Steven Rolf	56	2	187	3	62.33	1-9	0
Steve Blenkinsop	2.2	0	6	2	3.00	2-6	0
Adrian Colwill	5	1	14	2	7.00	2-14	0

Geddington Cricket Club Sunday Team Rutland League Division 6 2010 Results & Tables:

Date	Fixt	ure	H/A	H/A Result		
25/4/2010	Vυ	fford Park II	Home		Ufford Park won by 3 v	vickets.
3/5/2010	V P	eterborough Lions	Home		Peterborough Lions won by 41 runs.	
9/5/2010	V P	Peterborough Lions			Geddington won by 7 v	vickets.
16/5/2010	VW	Visbech Town II	Home		Geddington won by 5 v	vickets.
23/5/2010	VW	Verrington	Away		Geddington won by 1 v	vicket.
31/5/2010	VW	Varboys	Away		Warboys won by 144 r	uns.
6/6/2010	V B	arnack II	Away		Match Abandoned	
13/6/2010	VW	isbech Town II	Away		Wisbech Town won by	126 runs.
4/7/2010	V M	Iarket Deeping II	Home		Geddington won by 12	0 runs.
11/7/2010	V M	Iarket Overton II	Away		Geddington won by 9 v	vickets.
1/8/2010	VW	Veldon eldon	Home		Geddington won by 6 v	vickets.
8/8/2010	Vυ	fford Park II	Away		Geddington won by 54	runs.
22/8/2010	V B	arnack II	Home		Barnack won by 3 wick	xets.
29/8/2010	V M	Iarket Deeping II	Away		Geddington won by 5 wickets.	
5/9/2010	VW	Verrington	Home		Geddington won by 8 wickets.	
12/9/2010	0 V Warboys		Home		Warboys won by 33 ru	ns,
19/9/2010	VW	Veldon eldon	Away		Weldon won by 6 wick	ets.
26/9/2010	V M	Iarket Overton II	Home		Market Overton Conce	ded.
		Team		Played		Points
С		Warboys	18			299
P		Barnack II	18			264
3		Wisbech Town II		18		253
4		GEDDINGTON		18		234
5		Werrington		18		184
6	Peterborough Lions			18		181
7	Market Deeping II			18		180
8	Weldon		18			179
R	R Ufford Park II			18		141
R		Market Overton II		18		93

Geddington Cricket Club Sunday Team 2010 League Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Mark Pearson	12	3	306	34.00	81*	2	0
Mark Thomas	8	4	258	64.50	72*	3	0
David Goodjohn	12	2	237	23.70	61	2	0
Kelvin Gingell	4	1	151	50.33	71*	1	0
Derek Paterson	8	1	127	18.14	44	0	0
Jamie Kay	6	0	112	18.67	78	1	0
Steve Toseland	4	0	84	21.00	54	1	0
Thomas Pearson	14	2	84	7.00	26	0	0
Charlie Gingell	9	1	76	9.50	19*	0	0
Stuart Bendall	2	1	74	74.00	42*	0	0
Keegan Biddle	1	0	54	54.00	54	1	0
Matt Johns	10	1	48	5.33	17	0	0
Roger Paterson	2	0	47	23.50	26	0	0
Shane Ling	7	1	46	7.67	25	0	0
Brodie Biddle	2	0	35	17.50	30	0	0
Oliver Toseland	7	2	35	5.00	10*	0	0
Andrew Bowen	2	0	30	15.00	30	0	0
Nathan Armstrong	7	1	29	4.83	10*	0	0
Stephen Ludlam	1	0	25	25.00	25	0	0
Lee Sutherland	2	1	24	24.00	20	0	0

Geddington Cricket Club Sunday Team 2010 League Bowling Averages:

Name	Overs	MDNS	Runs	Wickets	Average	Best Figures	5+ W
Mark Pearson	132.1	28	481	36	13.36	5-52	1
Oliver Toseland	69.2	9	272	17	16.00	5-6	1
Miles Knight	86	17	281	17	16.53	4-20	0
Kelvin Gingell	57	16	159	13	12.23	4-29	0
Jamie Kay	42	7	148	12	12.33	4-23	0
Charlie Gingell	38.5	5	162	12	13.50	3-9	0
Thomas Pearson	50	5	219	9	24.33	4-22	0
Shane Ling	69	11	280	7	40.00	3-5	0
Harry Spence	13.3	1	73	4	18.25	2-24	0
Matt Johns	5.5	0	41	3	13.67	2-29	0
Phil Peel	4	0	9	2	4.50	2-9	0
Ben Templeman	2	0	10	2	5.00	2-10	0
Stephen Ludlam	12	1	28	2	14.00	2-28	0
Keegan Biddle	7	0	26	1	26.00	1-26	0
Peter Short	9	0	55	1	55.00	1-40	0

Geddington Cricket Club Under-11 2010 Results & Tables:

Geddington Cricket Club Under-11 Corby & District Wilson Browne Youth League Division 2 2010 Results:

Date	Fixture	H/A	Result
16/5/2010	V Weekley & Warkton	Away	Weekley & Warkton won by 63 runs.
30/5/2010	V Loddington Lions	Away	Geddington won by 7 runs.
6/6/2010	V Brigstock	Home	Brigstock won by 59 runs.
13/6/2010	V Thrapston Yellow	Home	Geddington won by 84 runs.
20/6/2010	V S & L Corby	Away	Geddington won by 36 runs.
27/6/2010	V Kettering Town White	Away	Geddington Conceded.
4/7/2010	V Barton Seagrave	Home	Barton Seagrave won by 5 runs.
18/7/2010	V Brigstock	Away	Brigstock won by 32 runs.
25/7/2010	V Barton Seagrave	Away	Barton Seagrave won by 6 runs.
1/8/2010	V Weekley & Warkton	Home	Weekley & Warkton won by 29 runs.
8/8/2010	V Loddington Lions	Home	Loddington Lions won.

Geddington Cricket Club Under-11 2010 Cup Results:

Date	Fixture	H/A	Competition	Result
18/5/10	V Great Weldon	Home	Weetabix Trophy 1st Round.	Great Weldon Won.
11/6/10	V Desborough Town	Home	Chairman's Plate Quarter-Finals	Desborough won by 50 runs.

		Played	Points
	Team		
1	Weekley & Warkton	11	44
2	Brigstock	11	33
3	S & L Corby	11	24
4	Loddington Lions	11	21
5	Barton Seagrave	11	16
6	Thrapston Yellow	11	13
7	GEDDINGTON	11	12
8	Kettering Town White	11	9

Geddington Cricket Club Under-13 2010 Results & Tables:

Geddington Cricket Club Under-13 Corby & District Wilson Browne Youth League Division 2 2010 Results:

Date	Fixture	H/A	Result
3/5/2010	V Weekley & Warkton	Away	Weekley & Warkton won by 29 runs.
10/5/2010	V Barton Seagrave (A)	Away	Barton Seagrave (A) won by 12 runs.
17/5/2010	V Brigstock	Home	Brigstock won by 38 runs.
31/5/2010	V S & L Corby	Away	S & L Corby won by 71 runs.
7/6/2010	V Thrapston Yellow	Home	Geddington won by 32 runs.
21/6/2010	V Weldon (A)	Away	Weldon (A) won by 70 runs.
25/6/2010	V Loddington Lions	Away	Loddington Lions won by 66 runs.
28/6/2010	V Thrapston Yellow	Away	Geddington won by 41 runs.
5/7/2010	V Barton Seagrave (A)	Home	Barton Seagrave (A) won by 3 runs.
12/7/2010	V Brigstock	Away	Match Cancelled
19/7/2010	V S & L Corby	Home	S & L Corby won by 108 runs.
26/7/2010	V Loddington Lions	Home	Geddington won by 7 runs.
2/8/2010	V Weekley & Warkton	Home	Geddington Conceded.
9/8/2010	V Weldon (A)	Home	Weldon A won by 60 runs.

Geddington Cricket Club Under-13 2010 Cup Results:

Result

Competition

H/A

Fixture

Date

Date	Tixtuic	11/1	Competition		Result
24/5/2010	V Weldon	Away	Corby & District Under 13 T	Trophy 2nd Round.	Weldon won by 127 runs.
				Played	Points
	Team				
1	Brigstock			14	49
2	S & L Corby			14	48
3	Weekley & Wan	rkton		14	40
4	Weldon A			14	32
5	Barton Seagrave	2		14	24
6	Loddington Lio	ns		14	16
7	GEDDINGTON	1		14	13
8	Thrapston Yello	ow		14	0

Geddington Cricket Club 1st Team 2010 Cup Results:

Date	Fixture	H/A	Competition	Result
23/5/2010	V Little Harrowden	Away	Npower Village Cup 3rd Round.	Geddington won by 183 runs.
6/6/2010	V Weekley & Warkton	Home	Npower Village Cup 4th Round.	Weekley & Warkton conceded.
15/6/2010	V Great Oakley	Home	NCL Twenty-20 Cup 1st Round.	Geddington won by 76 runs.
20/6/2010	V Stockton	Away	Npower Village Cup 5th Round.	Geddington won by 4 wickets.
29/6/2010	V Isham	Home	NCL Twenty-20 Cup 2nd Round.	Isham won by 5 wickets.
4/7/2010	V Quatt	Away	Npower Village Cup 6th Round.	Quatt won by 7 wickets.

Geddington Cricket Club 1st Team 2010 Cup Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Mark Neave	5	1	214	53.50	71	2	0
Chris Murdoch	5	0	160	32.00	51	1	0
Paul Smith	3	2	95	95.00	38*	0	0
Stephen Ludlam	5	2	91	30.33	38	0	0
Lee Sutherland	4	0	83	20.75	38	0	0
Steve Toseland	3	0	67	22.33	42	0	0
Jamie Kay	2	0	47	23.50	45	0	0
Tiaan Raubenheimer	3	1	34	17.00	17*	0	0
Mario Saleri	2	1	26	26.00	26	0	0
Colin Judd	1	0	18	18.00	18	0	0
James Bye	1	0	12	12.00	12	0	0
David Goodjohn	1	0	6	6.00	6	0	0
Richard Loak	3	1	6	3.00	6	0	0

Geddington Cricket Club 2010 Cup Bowling Averages:

Name	Overs	MDNS	Runs	Wickets	Average	Best Figures	5+ W
Mark Neave	26	2	106	9	11.78	3-17	0
Lee Sutherland	9	2	51	5	10.20	5-16	1
Chris Murdoch	28	4	105	5	21.00	2-25	0
Jamie Kay	8	0	41	3	13.67	2-12	0
Mark Toseland	18	3	95	3	31.67	3-51	0
Darren Garley	4	2	3	2	1.50	2-3	0
Stephen Ludlam	3	1	4	2	2.00	2-4	0
Ryan Bell	3	0	10	2	5.00	2-10	0

Geddington Cricket Club 2010 Stats:

1st Team:			2nd Team:	
Centuries:			Double-Centuries:	
Tiaan Raubenheimer 106* V Kettering	8/5/2010.	Marcus Knight	203* V Gretton	15/5/2010.
Tiaan Raubenheimer 104* V Long Buckby	22/5/2010.			
Chris Murdoch 115* V Earls Barton	31/7/2010.		<u>Centuries:</u>	
II-16 Contact			None	
Half-Centuries: Chris Murdoch 60 V Wellingborough Indians	24/4/2010.		Half-Centuries:	
Tiaan Raubenheimer 66 V Isham	1/5/2010.	David Goodiohn	84 V Grendon & Prims	24/4/2010.
Stephen Ludlam 53 V Kettering	8/5/2010.	David Goodjohn		1/5/2010.
Chris Murdoch 87 V Earls Barton	15/5/2010.	Marcus Knight	63* V Earls Barton II	8/5/2010.
Lee Sutherland 98 V Earls Barton	15/5/2010.	Matt Knight	50 V Earls Barton II	8/5/2010.
Tiaan Raubenheimer 65 V Old Wellingburians	5/6/2010.	Brodie Biddle	79 V Gretton 50* V Kibworth III	15/5/2010.
Chris Murdoch 62 V Horton House Mark Neave 71* V Thrapston	26/6/2010. 3/7/2010.	Matt Knight	66 V Irthlingborough II	22/5/2010. 29/5/2010.
Lee Sutherland 77 V Wellingborough Indians	10/7/2010.	Matt Knight	59 V Irthlingborough II	29/5/2010. 29/5/2010.
Chris Murdoch 58 V Wellingborough Indians	10/7/2010.	Stuart Bendall	57 V Overstone Park II	12/6/2010.
Chris Murdoch 64 V Isham	17/7/2010.	Matt Knight	93 V Higham Ferrers	26/6/2010.
Tiaan Raubenheimer 67 V Earls Barton	31/7/2010.	Brodie Biddle	50* V Higham Ferrers	26/6/2010.
Lee Sutherland 72 V Long Buckby	7/8/2010.		on 69 V St Crispins II	3/7/2010.
Tiaan Raubenheimer 50* V Long Buckby Mark Neave 60* V Irthlingborough Town	7/8/2010. 21/8/2010.	Matt Knight	57 V St Crispins II 90 V Grendon & Prims	3/7/2010. 10/7/2010.
Stephen Ludlam 59 V Old Wellingburians	4/9/2010.	Matt Knight	71* V Earls Barton II	24/7/2010.
Chris Murdoch 95 V Thrapston	18/9/2010.	Marcus Knight	75* V Gretton	31/7/2010.
•		Paul Smith	56 V Irthlingborough II	14/8/2010.
5+ Wicket Hauls:		Paul Smith	92* V Old	4/9/2010.
Ryan Bell 5-28 V Earls Barton	15/5/2010.	Derek Paterson	50* V Old	4/9/2010.
Tiaan Raubenheimer 5-18 V Old Northamptonians II Jamie Kay 6-34 V Kettering	1 12/6/2010. 24/7/2010.		5 - Wielrot Houles	
Jamle Ray 0-34 V Rettering	24/ //2010.	James Schofield	<u>5+ Wicket Hauls:</u> 5-20 V Irthlingborough II	29/5/2010
3rd Team:				26/6/2010.
3rd Team: Centuries:		Dave Shorthouse James Schofield	6-6 V Higham Ferrers 5-9 V Grendon & Prims	
		Dave Shorthouse James Schofield Mark Toseland	6-6 V Higham Ferrers5-9 V Grendon & Prims5-18 V Earls Barton II	26/6/2010. 10/7/2010. 24/7/2010.
Centuries: None		Dave Shorthouse James Schofield Mark Toseland Matt Knight	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010.
Centuries: None Half-Centuries:	22/5/2010	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010.
Centuries: None Half-Centuries: Tim Clay 83 V Oundle Town III	22/5/2010. 22/5/2010	Dave Shorthouse James Schofield Mark Toseland Matt Knight	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010.
Centuries: None Half-Centuries: Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III	22/5/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010.
Centuries: None Half-Centuries: Tim Clay 83 V Oundle Town III		Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010.
Centuries: None Half-Centuries: Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries:	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010.
Centuries: None Half-Centuries: None Half-Centuries: Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010.
Centuries: None Half-Centuries: None Half-Centuries: Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010.
Centuries: None Half-Centuries: None Half-Centuries: Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries:	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010.
Centuries: None Half-Centuries: None Half-Centuries: Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: 60 V Peterborough Lions 54 V Peterborough Lions	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010.
Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: 60 V Peterborough Lions 54 V Peterborough Lions 81* V Werrington	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010.
Centuries: None Half-Centuries: None Half-Centuries: Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: 60 V Peterborough Lions 54 V Peterborough Lions 81* V Werrington 55 V Market Deeping II	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010.
Centuries: None Half-Centuries: None Half-Centuries: Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V 5+ Wicket Hauls:	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn Mark Thomas	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: 60 V Peterborough Lions 54 V Peterborough Lions 81* V Werrington 55 V Market Deeping II 59* V Market Overton II	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010. 11/7/2010.
Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010. 7/8/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn Mark Thomas Steve Toseland	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: 60 V Peterborough Lions 54 V Peterborough Lions 81* V Werrington 55 V Market Deeping II 59* V Market Overton II 54 V Weldon	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010. 11/7/2010. 1/8/2010.
Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010. 7/8/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn Mark Thomas Steve Toseland	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: 60 V Peterborough Lions 54 V Peterborough Lions 81* V Werrington 55 V Market Deeping II 59* V Market Overton II	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010. 11/7/2010.
Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010. 7/8/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn Mark Thomas Steve Toseland David Goodjohn	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: 60 V Peterborough Lions 54 V Peterborough Lions 54 V Werrington 55 V Market Deeping II 59* V Market Overton II 54 V Weldon 61 V Ufford Park II	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010. 11/7/2010. 1/8/2010. 8/8/2010. 22/8/2010.
Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V 5+ Wicket Hauls: Phil Peel 6-29 V Oundle Town III Ross Campbell 5-20 V Bold Dragoon II 1st Team (Cup): Centuries:	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010. 7/8/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn Mark Thomas Steve Toseland David Goodjohn Kelvin Gingell Mark Thomas Jamie Kay	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: 60 V Peterborough Lions 54 V Peterborough Lions 54 V Peterborough Lions 55 V Market Deeping II 59* V Market Overton II 54 V Weldon 61 V Ufford Park II 71* V Barnack II 72* V Market Deeping II 78 V Werrington	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010. 11/7/2010. 1/8/2010. 8/8/2010. 22/8/2010. 5/9/2010.
Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V S+ Wicket Hauls: Phil Peel 6-29 V Oundle Town III Ross Campbell 5-20 V Bold Dragoon II 1st Team (Cup): Centuries: Half-Centuries:	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010. 7/8/2010. 31/7/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn Mark Thomas Steve Toseland David Goodjohn Kelvin Gingell Mark Thomas	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: O V Peterborough Lions 54 V Peterborough Lions 54 V Verrington 55 V Market Deeping II 59* V Market Overton II 54 V Weldon 61 V Ufford Park II 71* V Barnack II 72* V Market Deeping II	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010. 11/7/2010. 1/8/2010. 8/8/2010. 22/8/2010. 29/8/2010.
Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V 5+ Wicket Hauls: Phil Peel 6-29 V Oundle Town III Ross Campbell 5-20 V Bold Dragoon II 1st Team (Cup): Centuries:	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010. 7/8/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn Mark Thomas Steve Toseland David Goodjohn Kelvin Gingell Mark Thomas Jamie Kay	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: None Half-Centuries: V Peterborough Lions 54 V Peterborough Lions 81* V Werrington 55 V Market Deeping II 59* V Market Overton II 54 V Weldon 61 V Ufford Park II 71* V Barnack II 72* V Market Deeping II 78 V Werrington 69* V Werrington	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010. 11/7/2010. 1/8/2010. 8/8/2010. 22/8/2010. 5/9/2010.
Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V S+ Wicket Hauls: Phil Peel 6-29 V Oundle Town III Ross Campbell 5-20 V Bold Dragoon II 1st Team (Cup): Centuries: Half-Centuries: Mark Neave 56* V Little Harrowden	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010. 7/8/2010. 31/7/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn Mark Thomas Steve Toseland David Goodjohn Kelvin Gingell Mark Thomas Jamie Kay Mark Thomas	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: None Half-Centuries: V Peterborough Lions 54 V Peterborough Lions 81* V Werrington 55 V Market Deeping II 59* V Market Overton II 54 V Weldon 61 V Ufford Park II 71* V Barnack II 72* V Market Deeping II 78 V Werrington 69* V Werrington 69* V Werrington	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010. 11/7/2010. 1/8/2010. 22/8/2010. 29/8/2010. 5/9/2010. 5/9/2010.
Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Roger Paterson 50 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V S+ Wicket Hauls: Phil Peel 6-29 V Oundle Town III 8-20 V Bold Dragoon II	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010. 7/8/2010. 31/7/2010. 23/5/2010. 23/5/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn Mark Thomas Steve Toseland David Goodjohn Kelvin Gingell Mark Thomas Jamie Kay Mark Thomas Oliver Toseland	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: None Half-Centuries: V Peterborough Lions 54 V Peterborough Lions 81* V Werrington 55 V Market Deeping II 59* V Market Overton II 54 V Weldon 61 V Ufford Park II 71* V Barnack II 72* V Market Deeping II 78 V Werrington 69* V Werrington 69* V Werrington 5-6 V Market Deeping II	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010. 11/7/2010. 1/8/2010. 22/8/2010. 29/8/2010. 5/9/2010. 5/9/2010.
Tim Clay 83 V Oundle Town III Matthew Peleszok 66 V Oundle Town III Matthew Peleszok 82 V Brixworth III Mark Thomas 52* V Thrapston III Mark Thomas 51* V Kislingbury Temperance II Keegan Biddle 51* V Wollaston III Derek Paterson 87 V Old Northamptonians V Mark Pearson 71 V Old Northamptonians V S+ Wicket Hauls: Phil Peel 6-29 V Oundle Town III 8-20 V Bold Dragoon II	22/5/2010. 22/5/2010. 19/6/2010. 26/6/2010. 17/7/2010. 24/7/2010. 7/8/2010. 7/8/2010. 31/7/2010. 23/5/2010. 23/5/2010.	Dave Shorthouse James Schofield Mark Toseland Matt Knight Matt Knight Mark Toseland Mark Pearson Keegan Biddle Mark Pearson David Goodjohn Mark Thomas Steve Toseland David Goodjohn Kelvin Gingell Mark Thomas Jamie Kay Mark Thomas	6-6 V Higham Ferrers 5-9 V Grendon & Prims 5-18 V Earls Barton II 5-75 V Gretton 7-23 V Higham Ferrers 6-20 V St Crispins II Sunday Team: Centuries: None Half-Centuries: None Half-Centuries: V Peterborough Lions 54 V Peterborough Lions 81* V Werrington 55 V Market Deeping II 59* V Market Overton II 54 V Weldon 61 V Ufford Park II 71* V Barnack II 72* V Market Deeping II 78 V Werrington 69* V Werrington 69* V Werrington	26/6/2010. 10/7/2010. 24/7/2010. 31/7/2010. 28/8/2010. 18/9/2010. 3/5/2010. 9/5/2010. 23/5/2010. 4/7/2010. 11/7/2010. 1/8/2010. 22/8/2010. 29/8/2010. 5/9/2010. 5/9/2010.